SOLVED PAPER

UTTAR PRADESH POLICE CONSTABLE EXAM

Held on : 28.01.2019 (Shift-II)

GENERAL KNOWLEDGE

1. What was Uttar-Pradesh
known as from the year 1937-
19502
(1) Utara
(2) United Provinces
(3) Uttar Province
(4) Ram Krishna Pradesh

2. The Kailash Fair is celebrated
in honour of Lord Shiva in
which city of Uttar Pradesh?
(1) Agra
(2) Varanasi
(3) Kanpur
(4) Lucknow

3. Which of the following is the
longest canal of Uttar Pradesh ?
(1) 'Agra Canal .

(2) Sharda Canal
(3) Upper Ganga Canal
(4) Lower Ganga Canal

4. In which year did Uttarakhand
come into existence ?
(1) 2000 (2) 1991
(3) 2016 (4) 2011

5.In 1930, CV- Raman won the
Nobel prize for
(1) Literature
(2) Peace
(3) Physics
(4) Economics

6. Which book by Vikram Seth is
a collection of ten fables as
poems ?

(1) An Fqual Music
(2) Beastly Tales

(3) The Rivered Earth
(4) Summer Requiem

7. Name the last poemn written by
Harivansh Rai Bachchan.

(1) 1 November, 1984
(2) Chal Mardane
(3) Do Chattane
(4) Agneepath .

8. The blood group system was
discovered by T
(1) Friedrich Stromeye
(2) Karl Wilhelm Scheele
(3) William Murdock
(4) Karl Landsteiner

10.

11.

12.

13.

14.

15.

is a computer worm
that targets industrial control
systems. It attacked Iran’s nu-
clear program in 2007,
(1) Conficker (2) Stuxnet
(3) Zeus (4) Sasser
The strait between Taimil Nadu
and the Mannar district of Sri
Lanka is called__
(1) Strait of Malacca
(2) Palk Strait
(3) Sunda Strait
{4) Maliku Kandu
Which of the following states
of United States of America
does NOT share a boundary
with any other US state?
(1) Florida
(2) Alaska
{3) Rhode Island
(4) Maryland
Which is the third most popu-
lated country in the world ?
(1) Indonesia
(2) Brazil
(3) United States of America
(4) United Kingdom
Which of the following is NOT
one of the emirates of United
Arab Emirates ?
(1) Muscat (2) Dubai
{3) Abu Dhabi
(4) Sharjah
Which one of the following is
the capital of Bahrain ?
(1) Ankara (2) Doha
(3) Manama (4) Beirut
1 was the first woman
speaker of the Lok Sabha.
(1) Sushma Swaraj
(2) Meira Kumar

- (3) Pratibha Patil

16.

17.

(4) Sumitra Mahajan

The Sepoy Mutiny of the 1857
War of Independence happened
in which city?

(1) Jhansi  (2) Hyderabad
(3) Delhi (4) Meerut

The traditional snack ‘Khand-
vi’ is associated with which
Indian state ?

(1) Gujarat -
(2) Karnataka
(3) West Bengal
(4) Bihar

18. Name the first Hindi-language

. newspaper of India, first pub-
lished on 30 May, 1826.
(1) Dainik Bhaskar
(2) Udant Martand
(3) Patrika ;
(4) Deshbandhu

19. Which of the following is a

high-yielding seed variety of
wheat that contributed to In-
dia’s Green Revolution ?

(1) Indira Sona

(2) Larma Rojo

(3) Arize Tez

(4) Ankur

20. To prepared the initial draft of

the Indian constitution in Feb-

ruary 1948 ?

(1) Beohar Rammanohar Sin-
ha

(2) Nandalal Bose

(3) Shyama Prasad Mukherjee

(4) Benegal Narsing Rau

21. Umaid Bhawan Palace is in

which city?
(1) Udaipur (2) Jodhpur
(3) Musuru  (4) Jaipur

22, Lavani is a famous folk-dance

form of which Indian state?
(1) Uttar Pradesh

(2} Maharashtra

(3) Sikkim

(4) Tamil Nadu

23. Which was the last year when

the Rail Budget and the Union
Budget were presented sepa-
rately in India.

(1) 2016 (2) 2012

(3) 2008 (4) 2004

24, Who was the first de facto

Governor — General of India
from 1773 to 1785 ?

(1) Warren Hastings

(2) Lord Minto

(3) George Watson

(4) William George Walker
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50. A and B can complete a task
in 12 days, B and C can com-
plete the task in 16 days, Aand
C can complete the task in 24
days. In how many days will
they together complete the

task? ,
(1) 9.33 @) 9.67
(3) 1033 (4) 1067

51. A man completes a journey in
5 hours. He travels first half
of the journey at the rate of 21
km/h and the second half at
24 km/h. Find the total dis-

tance travelled.
(1) 112km. (2) 116km.
(3) 120km. (4) 124 km.

52. The ratio of speeds of two
trains is 5 : 6. The second train
covers 450 km in 5 hours. What
is the speed of the first train ?
(1) 60km/h [2) 65km/h
(3) 70km/h (4) 75km/h

53. The length of a rectangular plot
is thrice its breadth. The area
of the plot is 768 m?. Find the
perimeter of the plot.

(1) 120 metre (2) 124 metre
(3) 128 metre (4) 132 metre

54. A 3 - digit number ABC, where
A is at the hundredth place, B
is at the tenth place and C is
at the unit’s place, is re-writ-
ten as ABCABC and is divided
by the LCM of 7, 11 and 13.
What will be the result ?

(1) ABC (2) CBA
(3) BCA (4) AAB

§5. A 5-digit number 247X8 is di-

visible by 44. Which digit can

replace X ?
(1)1 2) 2
33 4) 4

56. Find the product of the square
root of 256 and square root of
16 and then find the result's

square root.
(1) 4 (2) 6
(3) 8 (4) 10

57. Two chairs and a table can be
bought for Rs. 170. Five chairs
and four tables can be bought
for Rs. 530. Find the cost of a

chair.
(1) Rs. 40 (2) Rs. 50
(3) Rs. 60 (4) Rs. 70

MENTAL ABILITY

58. Fill the missing value in this
series :
C2BA, FE4D, IHGS, ?
(1) JIGKL (2) LIGK.J
(3) M16NO (4) O16NM

59, Which pair in the options will
complete the following series :

Ay olB
(1D, Y (2) D.Z
B E Y 4 E X

60. X bicycled 15 km north, then
20 km to his left. At least, how
many more kms does he need
to bicycle to return to his orig-
inal position ?

(1) 35km. (2) 15km.
(3) 20km.  (4) 25km.

61, Two cars start from a common
point. The 1st car travels north
10 km, turns left and goes
ahead for 8 km. The 2nd car
goes south for 5 km, turns
right and travels 8 km. What
is the distance between the

cars ?
(1) 5km (2) 10km
(3) 8km (4) 15km

62. X walks 3 km away from his
starting point. He turns right
and travels a further 8 km. He
turns left and walks ahead,
but notices that he is in the
opposite direction of what he
is supposed to be in. He start-
ed by walking towards east. In
which direction is he supposed

togo?
(1) North (2) East
(3) West (4) South

63. X travels 5 km north, turns
right and covers 7 km. He then
turns right and travels 5 km.
In which direction is he going ?
(1) North (2) East
(3) West (4) South

64. A is given below, followed by
two Conclusions I and II. You
have to consider the statement
to be true even if it seems to
be at variance with commonly
known facts. You have to de-
cide which of the given Con-
clusions, if any, follows from
the given statements.
Statement : Company ABC
has marketed the product with
the following slogan : “Go

ahead; purchase it if the price

and quality are your consider-

ations”.

Conclusions :

I. The price of the product
must be high.

1I. The product must be of a
good quality.

(1) Only Conclusion I follows

(2) Only Conclusion Il follows

{3) Both I and II follow

(4) Neither I nor II follows

65. A statement is given below,
followed by two arguments, I
and 1. You have to consider the
statement to be true even if it
seems to be at variance with
commonly known facts. You
have to decide which of the giv-
en arguments, if any, is strong
and supports the given state-
ments.

Statement : Should taxes be

abolished in a developing

country like India?

Arguments :

I. No, taxes are a good source
of income for the govern-
ment to take steps for the
development of the country.

1. Yes, these taxes are NOT
used for the goodwill of the
nation.

(1) Only argument I is strong.

(2) Only argument II is strong.

(3) Both arguments I and Il are
strong.

(4) Neither argument 1 nor 11
is strong.

66. Two statements are given be-
low, followed by three Conclu-
sions, I, Il and III. You have to
consider the statement to be
true even if it seems to be at
variance with commonly
known facts. You have to de-
cide which of the given Con-
clusions, if any, follows from
the given statements.
Statements :

1. Every man should have his
identity card with him.

II. That card should mention
his blood group, complete
address and telephone
number for contact, in case
of emergencies.

(c<e-147 |
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Conclusions :

1. Blood CANNOT be trans-
fused until its group is
mentioned in the card.

iI. No one is supposed to for-
get his phone number un-
der any circumstances.

III. The police needs this infor-
mation if the injury is fa-
tal.

{1) Only Conclusion I follows

(2) Only Conclusion II follows

(3) Only Conclusion III follows

{4) None of them follows

67. Which of the words CANNOT

be formed by the letters of the
word “CARABINER” ?
(1) Crab (2) Nine
(3) Bare (4) Rice

68. Which of the following words

does NOT have its vowels in an
alphabetical order ?

(1) Aerious (2) Materious
(3) Imperious (4) Facetious

69. Select the option that is relat-

ed to the third word on the
same basis as the second word
is related to the first word.
Birds : Chirp : : Bear : ?

(1) Growl (2) Gibber

{3) Bleat (4) Grunt

70. Zach one of the following op-

tions consists of pairs of
words. Choose the best pair to
match with the pair in the
question.

Doctor : Nurse

(1) Judge : Lawyer

(2) Owner : Staff

(3) Chef : Waiter

(4) Engineer : Driver

71. Select the alternative that is

related to the third term in the
same way as the second term
is related to the first term.
PQR:UTS :: LMN:?

(1) OPQ (2) QPO

(3) NML (4) PQO

72. Find the alternative that can

be a member of the given
group/ class.

Pathology, Radiology, Cardiol-
ogy

(1) Biology

(2) Geology

(3) Zoology

(4) Hematology

73. Find the missing number :
1,8,27,64,7
- (1) 125 (2) 135
(3) 14b {(4) 155
Find the missing numbers (X
and Y) in the series and find
the value of Y-X :
25, 26, 28, X, 35,Y, 46
(1) 7 (2) 8
(3) 9 4) 10
Find the pair of the numbers
that would fit into the pattern:
32, 8,324, 32 12, 32 48, 32
240, ?.?
(1) 321200 (2) 321440
(3) 321320 (4) 641440
76. Which of the following series
is built on the same logic as :
C E GK
()M, Q.5 W
2) M Q, 8. X
(3) M, 0,Q,5
(4) M,P, S,V

74.

75.

MENTAL APTITUDE I1Q &
REASONING ABILITY

77.1f the 5th day of a month is
Wednesday, which of the fol-
lowing would be the 2nd day
after the 20th day of that
month ?
(1) Wednesday
(2) Sunday
(3) Saturday
(4) Thursday
78. A series is given, with one term
missing. Choose the correct
alternative from the given ones
that will complete the series.
AQF5, B1F6, D1G6, G217, ?
(1) LAL8 (2) K3L8
(3) K3M9 (4) 14AM9
In a code language, 639 means
‘water is drink’, 316 means
4juice is drink’ and 219 means
‘water or juice’. Find the code
for ‘or’.
(11 (2) 2
(3) 9 4 3
In a certain code RICH is writ-
ten as 4279 and SNOW is writ-
ten as 8396. How is COIN writ-
ten in that code?

79.

80.

(1) 4547 (2) 9035
(3) 1901 (4) 7923
81.If in a certain code language,
‘+’, represents ‘x’, ‘-’ repre-
sents, ‘+*, X represents ‘=" and
UCSE-148

82.

83.

‘+’ represents ‘-, Find out the
answer of the following ques-
tion. .
9-3+1+6x2=7

(19 (2) 8

(3) 26 4) 5

If HELIPAD is coded as
JGNKRCF, then how will BUY
be coded as ?

(1) ACE (2) FHJ
(3) DWA 4) KMO
If A @ B means A is the grand-

son of B, A # B means A is the
wife of B and if A ¥ B means A
is the father of B, then what
does X *Y @ Z # W mean, if Z
has only 1 child ?

(1) W is the mother of X

(2) W is the father of X

(3] X is the mother of W

(4) X is the father of W

84. If P% Q means P is the father

of Q; P! Q means Pis the sis-
ter @ and P * Q means P is the
daughter of Q, which of the
following shows that I is the
sister of K's husband ?
MI%G!'H*K
@2)I'G%H*K
B)I!'G*H%K

4 1% G*HIK

85. M said to N, “You are my

86.

daughter’s father’s mother’s

son”. How is N related to M, if

M is a female ?

(1) N is the brother of M’s hus-
band

(2) N is the father of M

(3) N is the father-in-law of M

(4) N is the son of M

In the following figure, the

square represents accoun-

tants, the triangle represents

artists, the circle represents

planners and the rectangle rep-

resents men. Which set of let-

ters represent men who are

artists?

Wil
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(1) GH (2) GAF ¥
(3) AB (4) AC

87. Which of the following venn
diagrams best represents the
relationship between Rajast-
han, India and Asia ?

(1 OO . @
@ @ @) C@)

'88. A student enrols for a 6 test ’

series to prepare for an en-
trance exam. He plots his
progress as a line graph. The
line graph shows the marks he
scored in these 6 tests. In how
many tests his name was list-
ed in the Hall of Fame ? (Those
students who score more than
40 get the honour of being list-
ed in the Hall of Fame)

60
250 18 2
‘40135 35
30 20 25
620
§10
R a2 By BB B
Test
12 2) 1
33 (4) 4

89. The bar graph shows GDP for
the year 2017, in billion USD,
of six countries which have
united to form a free trade
block. GDP of which country

1
constitutes gth of the total
GDP of these 6 countries ?

250
U
8200

A

200

[¢)

p—
1]
o

GDP
bt
o
o

GDP in billion
o
o]

"A"B C D EF
Country
(1) A (2) E
(3) F 4 C

90. Alloy 1 and alloy 2 are prepared
by mixing metals A, B, C and
D. The pie- charts show the
proportions of these metals in
the two alloys.
If 1 kg of alloy 1 and 2 kg of
alloy 2 is melted and mixed,
then the resulting alloy will
contain what mass of metal
B?

Alloy 1

(1) 700g
(3) 70g

(2) 500g

(4) 50¢

91. Which word does NOT belong
with the others?

(1) Blue (2) Green
(3) Paint (4) Yellow

92. Find the odd letters from the
given alternatives.
(1) GEC (2) IKM
(3) 0QS (4) VXZ

93. Choose the figure which is dif-
ferent from the rest.

1) [—| @

—_—
+—>
(8) Jirr ey [4]1
="/
—
—
—_—
- UCSE-149

94. Choose the figure which is dif-
ferent from the rest.

(1)

1 N W 2) w M Q
ZHM NHJ
QTO OZT
Blggz|®|MTI
NOW QZo
I-M-T44 W N H
95. Select the alternative that is
related to the third term in the

same way as the second term
is related to the first term.
Necklace : Jewellery : : Pen : ?
(1) Paper (2) Stationery
(3) Writing  (4) Book

96. Select the alternative that is
related to the third term in the
same way as the second term
is related to the first term.
196:169::2744:?
(1) 4277 (2) 2195
(3) 2977 (4) 4192

97. From the given answer figures,
select the one in which the
question figure is hidden/em-
bedded.

(1) @)

(3) @

N/ TN
/\

98. Which answer figure will com-
plete the pattern in the ques- .
tion figure ?

=

—

(1) ol@ )

3) 4@

(i o e RO
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9. Which of the following answer

: figure patterns can be com-

o bined to make the question fig-
4 ure ?

=
E:

o BB R
(Z}EBZID:E :“:B
(S)EEQEFEEE
UL]E]EJEI_‘J

100, Which of the following cubes
in the answer figure CANNOT
be made on the basis of the
unfolded cube in the question

figure ?
“ O]
@.

O

(1)

T
e

2

(3)

20 =

4

4l

Directions (101-103) : Read
the following information to
answer the given questions.
Following are the conditions
for issuing a passport.

(A) The applicant must be born
in the country or be mar-
ried to a citizen of the
country.

(B) The applicant should pos-
sess the unique identity
card for proof of name, ad-
dress and age.

(C) The candidate should pro-
duce 12th pass certificate
for education proof if NOT
a minor.

(D) A minor is under 18 years
of age. A minor should pos-,
sess the unique identity
card of either parent.

(E) For reissue of passport ap-
plicant should submit old
passport. For fresh issue
applicant should submit
affidavit.

However, in case an apphcant

who fulfills all other criteria

EXCEPT :

(1) A above, in case the appli-
cant was born outside the
country, the application is
referred to passport Head
Office.

(2) C above, if applicant has
NOT passed 12th, the ap-
plication is referred to
passport Head Office.

(3) E above, in case the old
passport is lost, the appli-
cation will be treated as a
fresh issue.

Based on these criteria and

information provided below,

decide the course of action in
each case. You are NOT to as-
sume anything,.

101. 15 year-old Vijay was born in
the country, has the unique
identity card, has NOT yet
passed his 12th and has his
old passport. Only his mother
has a unique identity card, but
his father does NOT as he was
NOT born in the country.

(1) Allot Passport

(2) Reject Passport

(3) Refer to Head Office

(4) Data inadequate

102. 21 year-old Sam is married to
Rita who is a citizen of the
country. He has the required
affidavit for a fresh passport.
He has the unique identity
cards both of himself as well
as his wife.

(1) Allot Passport
(2) Reject Passport
(3) Refer to Head Office
{(4) Data inadequate

103. Seema has lost her old pass-
port. She is 75 years old, was
born ouiside the country and
she does NOT have the unique
identity card and is educated
till the 10th. She has the affi-
davit.
(1) Allot Passport
(2) Reject Passport
{3) Refer to Head Office
(4) Data inadequate

104. Which of the following answer
figure patterns can complete
the series given in the ques-

tion figure ?
V 71|@
al|® V
(1) N 2 @
P N
(3) g 4 A
4 %

105. Which of the following answer
figure patterns can complete
the series given in the ques-

tion figure ?

A O
A ||AOD)| =
U &)

(1) (2)

DOA

B ="1@F A
A O
Ll ik
106. What is the minimum number

of lines required to make the
given image ?

(1 12
(3) 14

(2) 13
(4) 11

(" UCSE-180
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107. If 2 mirror is placed on the line
MN, then which of the answer
figures is the right image of the
given figure ?

|M
N
1 2 :
(1) 5 (2)
= X
@i\ | @] /=
A ¥
108. A piece of paper is folded and

punched as shown below in
the question figures. From the
given answer figures, indicate
how it will appear when
opened.

(1) ZYX (2) WXY
(3} XYZ (4) YXW
112. A series is given, with one num-
her missing. Choose the cor-
rect alternative from the given
ones that will complete the
series.
EEEEEEEFF, EEEEEEFEF,
EEEEEFEEF, EEEEFEEEF,
EEEFEEEEF,? :
(1) EEFEEEEF
(2) EEEFEEEFE
(3) EEFEEEEEF
- (4) EEEFEEEEEF
113. A series is given, with one num-
ber missing. Choose the cor-
rect alternative from the given
ones that will complete the
series.
-6.2,-3.5,-0.8,7.4.6

{1y 1.9 (2) 1.7
3) 1.5 (4) 1.6
fe=t wTeT wErt

Az

(g

N
(
AN

o)

. ¥ PR

2) |

- (3

v<]r>7 NUAS

109. Arrange the following words as
: per their order in an English
dictionary and choose the one
that comes first.
preview; pretence; previous;
prettier
{1) preview (2} prettier
(3) previous (4} pretence
110. A series is given, with one word
missing. Choose the correct al-
ternative from the given ones
that will complete the series.
Retina, National, Algebra, Ra-
diator, ?
(1) Apparel (2) Military
(3) Ordinary (4} Barometer
A series is given, with one term
missing Choose the correct al-
- ternative from the given ones
that will complete the series.
FED. HLJ, NML, PQR, VUT, ?

111.

114, Fefatas 7= § o fawed | 9,

ﬁqmw@ﬁmﬂﬁmm

fammea 4T
(1) faam (2) @rEE
@) gewEm  (4) T

115.ﬁr4'feaﬁaaqﬁr‘f,mfaaﬁrﬁfﬁ@
m fgwed @ W S W
- frsde T fake 2
FEATH
(1) 3¢ + 9™
(2) 3@ + @
(3) Sea + W
(4) T + ATHH
116.Wa@awﬁ,aﬁmﬁq
o ¥ o @ v fawed W T
=¥ W weE B wa sresl fawed

%l

Lo

(1) W= (2) frem
B ™ (4) =

117.ﬁmﬁﬁaﬂmﬁ,aﬂf—m i H g
=g faFew & WA w W KU
wmaﬁ’rwaﬁww%i

AT :
(1) = (2) Tbd
(3) S (4) e

—

118. frettag e ¥, <R fawed o T,
o 9F fawen w1 A w SR
T T & Sted SESGR '
s s e
T T = OEAS W
(1) T9F SR
(2) sfavEifa EFR
(3) 3T FEARN
(4) T FABR
119.ﬁm1%rﬁ@ﬁwﬁ,aﬂ’“ﬁwa‘iﬁﬁ
g Td fawey = 9E ®L A
raited T @ TE 9o ® R A
s B T T @el ¢
(1) SH==A SgF e
(2) famrnfaaius S
(3) TrFg dAUE AT
(4) T
120, Fretfafes we |, ¥R fawed o 9
=g T faweq ® W FL S
A T B e w9 H W
e faed @)
#3 g = 2
(1) ¥ Tita W €
(2) T Tita o ¥
(3) TR T W@
(4) TR A Tita S0 @
121,79 § WAF R H 1 FE W

272
(1) ==5A (2) =TT
(3) == (4) @i

122.ﬁqfﬁf@ﬂwﬁ,mﬁmﬁﬁ,
37 fomeq & 997 H #@ €Y T
TR T wef e fomed 2
wEr JF
(1) 7@ S
(2) T A
(3) R HEAI
(4) &+ T
123,70 H U1 G T H A S
i
(1) &0 W (2) TR E
(3)a ™ (4) T ™
124, Frefates v d, =) fowed € 9,
g Td fawer &1 A HE A
FrRyEER A e e W
famed B '
1 =9 a1 w8 § 2 (FHarA)

=i =
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(1) 39 fwam & W & G0 WG
TR
(@) ¥ A 39 FRaE H UG
3) 7% foae e gW T T
(4) s = fwaE W
125. 6 & gu % T gE B A
w1 @i foad & fom fve e &1
i foen s § 7
(1) TSt (2) 3BIM
(3) ereq fmm (4) &8 fawm
126. Fyfatad T o, 9~ fawed 9 9,
fau Moy % WE wEE S
famrey Tl
B EREeT
(1) =z & frer ® o
(2) =5 & Tomsr T
(3) 9% % WO & W
@) =% & @ & =
127. Frefafas 9 o, =R fawed
o # T SW e o = Y
S v G W e TSl (UE
v’ fageq €1 fou SE T 8l
TR '
(1) SeEEr (2) FEH
(3) warenfed  (4) g
128, frefafas wea o, 9R fowe KU
m ¥ oW @ =, g
el v W o ad W

W H A
EGE
(1) siE=t [2}%’6?{

‘ (3) = (4) w=h

129, fi=ffas ov §, 9% fawed § €,
3u we fawew &1 =99 HL W e
e 1 Qe iR UREd ST
E i i

w=it 3 e B e o
ued
(1) 7= & =@ ey fam g
LGRS
@) 7= TE FH % o Ber T
(3) = T @ F T ol
(4) =di 3 e FE e SR g
1 e
130. Brefafas wes o, 91 fowed 9 4,
Yaifss 7 ® Sfad & A
prac|E]
T WY T i

(1) ST

(2) sAfarETo S

(3) TR HE

(4) w4 =NF
Frfofad vod o, =R fawed 7 ¥,
5o T8 fawen & =@ wE A
FRvTER 9 TRERE Jen WE
fawed 21

= 3 B ol (Hias we)
(1) 98 &, 8 TH

@) v e T ¥

(3) T8 ©a gF el

(4) o= TE @

131.

132.
mu ¥ o 9 s fawen w1 W
¥ 1 faw U e w1 wE Sl

Frefafeg 7§, =R fawen KU

138, GdIm a@ Rl § TR @ T
rog = € ?
(1) foFm {2) %4
(3) i (4) ==
130, st g e s T HA-E
4
(1) g=mad (2) W@ faem
(3) famrrfial  (4) R el
‘arg géw’ fRE iEs @EE 5N
g S99 © ? .
(1) e TE
(2) A @
(3) s= e
(4) IR ETER
S € T Tt fRe W w8

140.

141.

(1) e T

W%l PDEEE

TSI (3) wawy &

(1) Tt (2) TR (4) TR FAG e

(3) TogEEA  (4) TS 142, Tdver <@ SR H e
133. frefafaa e ®, =R fawe fu 3 fau Wi SFREH QR T

mu ¥ fd § 3w faeeen w1 WA e ?

¥ it faw Ty W F R e (1) Gfedl ™ dm

= # Q) @ W W,

Ao (3) T FE FL [HFE

() Tofe  (2) T @) ™ T

@) arEE  (4) T frdor (143-147 )72 faw g
134, 9% R T Yot 1 FE g B T % W% ¥99 Ty T € g e @

e faed e EE 98 IR W fawed 9 ww

e T 1 a3

(1) TeER (2) TR T .tr‘r"‘q' TRl qd g

(3) TR (4) TR shemsR S T 4 gt (o)

135.59 w5 99 T § fFER WER
§2?
(1) =R (2) =5
(3) aofaren  (4) WIH S
136. 3 & FH-H FH FH 8 ?
n= 2) [
(3) (4) 2
137.5 T Sifed § ®E-H € W@
He e ITY 9 9 faRiee
HE ?
(1) Tei—TTiers
(2) TH-ER
(3) g@—3¢@
(4) T
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F @E F T wE O T W AW
3 wrEEt w TeuE o faEE 1336 |
TR TR ® T e W e
oA w s @ At S 5 FeeE
T (1509-1529) & fa= w=1 7ea iR
o | TEuE & owid TRA @R
ST, A T GeT R T
Yo TR o Sfuw ARG w1 FEiEE
yifrrenel forg TR &1 T T SR
F R F A e e @
HY F 1565 H ®gF HEAV § IARY
TaM| T FeETR B W F TR R
T TN GE TH WHET F gER 3 o
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feETR ® TEEeY UE g WAl
foumer <o W Fel gemEe & 9
ey ¥ o s & Teritae aigwd |
A 35 T i el wE varsal ¥ O
W T e | e § S A
% 9% Wt wigd & i =1 T
AT o T T § e 2R g, T,
-, T @ GG SR e e
¥ g R % o oo SRR CTOE
it v TR T % T S e e
% wierft v S g vdd, WRe e
3 TeaEy TR % Seel@ OEEE H
firer 1 TR W WA A S e
1 am v foe faswe w9 fie W
faae e on T W W 3 T HE
T T
143, frfeg=an &1 M fHEs WA

fewen = ?

(1) =t (2) e

(3) FORA T (4) TEw T
144, frad 7of H =WE w1 TR H

a1 ?

(1) fafew sfagreer Siffm o

(2) TR ShEwER ST

(3) SR GHET @ TR A

(4) drfors W= A
145, 00 TEET F AR H1 T

gam ?

(1) 3T AT

(2) M FET

(3) TR AHA

(4) ST Fe
146. FATETR F FEE9 HE FvEEE

FATEAE ?

(1) SR (2) e

(3) W (4) et
147. T 1wl W e ?

(1) faeremn = el

(2) =i

(3) TEE T@EE |l

(4) vifsmett
148, freffafan vv= ¥, =R fowedi 4 9,

39 faweu w1 =99 H S W

faFed 2

Evuiei D § T Bl
(1) st (2) oRH '
(3) T (4) =T

149, Frfafeag wed #, 9% fawed K
e A T e T AR
1 T TeE ' €

ETIGH
(1) = (2) THE
(3) % (4) FTt

150.ﬁ1:rﬁ=rﬁ§?rwﬁ,ar{ﬁwq’fﬁﬂ,
g faFeq & 99 H oS veE |
T = R

=[EXPLANATIONS B

1. (2) Uttar Pradesh was created -
on 1 April, 1937 as the United
Provinces of Agra and Oudh
during British rule, and was
renamed Uttar Pradesh in
1950. It came as a result of the
shortening of “United Provinc-
es of Agra and Oudh”. It corre-
sponded approximately to the
combined regions of the
present-day Indian states of
Uttar Pradesh (UP) and Uttar-
akhand.

2. (1) Kailash Fair is a notable
festival of Kailash near Agra in
Uttar Pradesh.The fair is orga-
nized in the honor of Lord Shi-
va with lots of pomp and show.
1t is celebrated to memorialize
the appearance of Lord Shiva
in the form of a stone lingam.
People think that Lord is al-
ways present in the lingam and
is listening to all their wishes
and prayers.

3. (2) The Sharda Canal is the
longest canal in Uttar Pradesh
along with its several branch-
es. It is located in the Pilibhit
district and has a total length
of 938 Km including all
pbranches. It is built on the
Sharda River that demarcates
Nepal's western border with
India.

4, (1) Uttarakhand was on 9 No-
vember, 2000 initially formed
as Uttaranchal under the Ut-
tar Pradesh Reorganisation Act
2000 as the 27th State of In-
dia. Itwas carved out of north-
ern Uttar Pradesh.It was later
renamed as Uttarakhand on 1
January, 2007.

5.(3) C. V. Raman’s ground
preaking work in the field of
light scattering earned him the
1930 Nobel Prize for Physics.
He discovered that, when light
traverses a transparent mate-
rial, some of the deflected light
changes in wavelength. This
phenomenon is now called

~ Raman scattering,.

(1) faeTee (2) =

(3) ©=EH (4) =gl
= ANSWERS V=
1.@| 2.) 3.2 4, (1)
5 (3| 6@ 7.(1) 8.4
0.2 10.@| 1.2 | 12.(3
13. (0] 14.Q| 15.2| 16.&)
17.0] 18.@] 19.@ | 20.4
21.2)| 22.@| 28.(1| 2401
25.3)| 26.@) | 27.0)| 28.03)
29.(1)| 30.(3)| 81.(2)| 32.3)
33.3)| 32.4] 35.3| 36.(1)
37.2] 38. @] 39.@ | 40.B)
1. @) 22.@]| 43.3| 44.02),
45.3)| 46.@| 47.(1| 48.(4)
49. ()| 50.@| 51.(1| 52.4
53.(3)| 54. ()| 55.(2)| 56.3)
57.2| 58.@| 59.(1| 60.4)
6L (4] 62.3)| 63.4 | 6402
65.(1)] 66.(3)| 67.2)| 68.03)
69. )| 70.@| 71.2| 72.4)
73.(1)| 74.3| 75.@ | 76.(1)
77.3)| 78.@| 79.2) | 80.4)
sl.()] 82.3 ] 83.(2| 84.02)
85. ()| 86. 3| 87.@ | 88.(1)
g9. @] 90. (| 91.3)| 92.(1
93.4)] 94.@| 95.2 | 96.02)
97.(1)| 98. @] 99.@2 | 100.4
101. (1) |102. (4 | 108. (2) | 104. (3)
105. (1) | 106. (4) | 107. (3) | 108. 3)
109. (@) |110. (3) | 111. ®) | 112. 8)
113. (1) [114. () | 115. (1) | 116. (2)
117. () |118. (1) | 119. (3) | 120. (2)
121. @) |122. (2) | 123.(2) | 124. (1)
125. (2)|126. (1) | 127. 3) | 128. ()
129, (3)[130. (1) | 131. (@) | 132.(1)
133. (1)|134. (1) | 135. (1) | 136. (3)
137. (1) [138. (1) | 139. (1) | 140. (4)
141. (1) | 142. (1) | 148. (1) | 144. ()
145. (3) | 146. (1) | 147..(1) | 148. (2)
149. (2) | 150. (4)
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10.

(2) Beastly Tales is a 1991 col-
lection of ten fables in poetry
written by Vikram Seth. Its full
title is Beastly Tales from Here
and There and, in the intro-
duction, Seth states “the first
two come from India, the next
two from China, the next two
from Greece, the next two from
the Ukraine. The final two
came directly to me from the
Land of Gup”.

. (1) Harivansh Rai Bachchan's

last work was ‘Ek November
1984, based on Indira Gan-
dhi’s assassination in 1984.In-
dira Gandhi was shot dead her
bodyguards on 31 October,
1984. Harivansh Rai Bach-
chanwas a distinguished Hin-
di poet, perhaps best known
for his earlywork Madhusha-
la. He is also the father of Bol-
lywood film superstar,Amitabh
Bachchan.

(4) Karl Landsteiner, an Aus-

_trian and American biologist

and physician, first distin-
guished the main blood groups
in 1900. He found out that the
blood of two people under con-
tact agglutinates, and in 1901
he found that this effect was
due to contact of blood with
blood serum. As a result he
succeeded in identifying the
three blood groups A, Band O.

. {2) Stuxnet is a malicious com-
puter worm that targets SCA-.
DA systems and is believed to |

be responsible for causing sub-
stantial damage to Iran’s nu-
clear program in 2007. Stux-
net specifically targets pro-
grammable logic controllers
(PLCs), which allow the auto-
mation of eleciromechanical
processes such as those used
to control machinery and in-
dustrial processes.

(2) The Palk Strait is a strait
between Tamil Nadu and the
Mannar district of the North-
ern Province of Sri Lanka. It
connects the Bay of Bengal in
the northeast with the Palk
Bay and then with the Gulf of
Mannar in the southwest. The

11.

12.

13.

14.

15.

strait is named after Robert
palk, the governor of Madras
Presidency during 1755-1763.
(2) Alaska, located in the
Northwest corner of the Unit-
ed States West Coast does not
touch any other US state. It has
borders with Canada, the Arc-
tic Ocean, the Pacific Ocean,
and the Bering Strait. Alaska
is the biggest state in the Unit-
ed States.The United States
bought Alaska from Russia on
March 30, 1867.

(3) USA is the third most pop-
ulated country in the world
with population strength of
329,538,000. The United Sta-

tes is the world’s third or

fourth largest country by total
area. China is the most popu-
lous (1,398.200,000}, followed
by India (1,349,660.000}. Indo-
nesia and Brazil are fourth
and fifth most popuilous coun-
tries.

(1) Muscat is the capital and
largest city of Oman. It is the
seat of the Governorate of
Muscat.The rocky Western Al
Hajar Mountains dominate the
landscape of Muscat. The city
lies on the Arabian Sea along
the Gulf of Oman and is in the
proximity of the strategic
Straits of Hormuz.

(3) Manama is the capital and
largest city of Bahrain, with
an approximate population of
157,000 people. Long an im-
portant trading center in the
Persian Gulf, Manama is home
to a very diverse populatior.
Manama was designated as the
capital of Arab culture for the
year 2012 by the Arab League.
{2} Meira Kumar is an Indian
politician and five-time Mem-
ber of Parliament who was
elected unopposed as the first
woman Speaker of Lok Sabha

and served from 2009 to 2014. -

She was the joint presidential
candidate by the leading oppo-
sition parties for 2017 presi-
dential election and lost the
election to the NDA nominee
Ram Nath Kovind.

16.

17.

(4) The Meerut Mutiny (May 9,
1857) marked the beginning of
the Sepoy Mutiny of 1857. The
Indian sepoys in Meerut mur-
dered their British officers and
broke open the jail. On May 10,
they marched to Delhi where
they were joined by the Delhi
sepoys and the city came un-
der their control. The sepoys
next proclaimed the ageing
Bahadur Shabh Zafar the Em-
peror of Hindustan.

{1) Khandvi, also known as

. Patuli, Dahivadi or Suralichi

Vadi, is a savory snack in Gu-
jarati cuisine. It consists of yel-

" lowish, tightly rolled bite-sized

18.

19.

20.

pieces and is primarily made
of gram flour and yogurt.
Khandvi is readily available
across India and is commonly
eaten as an appetizer or snack.
(2) Udant Martand was the
first Hindi language newspa-
per published in India. Start-
ed on 30 May, 1826, from Cal-
cutta (now Kolkata), the week-
ly newspaper was published
every Tuesday by Pt. Jugal
Kishore Shukla. It was pub-
lished completely in Hindi,
using Devanagari seript, Udant
Martand employed a mix of
Khari Boli and Braj Bhasha
dialects of Hindi.

(2) The introduction of high-
yielding varieties of seeds ai-
ter 1965 and the increased use
of fertilizers and irrigation are
known collectively as the
Green Revolution.The intro-
duction.of dwarf high-yielding
varieties of wheat like Lerma
Rojo and Sonora 64coupled
with farm technology, use of
chemical fertilisers and pesti-
cides allowed cereal production
to increase manifolds to feed
hungry mouths, thus bring
about the green revolution.
(4) Sir Benegal Narsing Rao-
was an Indian civil servant who
was appointed as the Consti-
tutional Adviser to the Constit-
uent Assembly in formulating
the Indian Constitution in
1946. He was responsible for

~ the general structure of its

_(UcsE-154 |
(JesEat )



SOLVED PAPER-10

SOLVED PAPER-10

democratic framework of the
Constitution and prepared its
initial draft in February 1943.
This draft was debated, revised
and finally adopted by the Con-
stituent Assembly of India on
26 November, 1949.

21. (2) The Umaid Bhawan Pala-

ceis located in Jodhpur in
Rajasthan.The foundation for
this grand palace was made in
1929 by Umaid Singh, the 37th
Rathore ruler of Marwar. He
built the palace to provide
farmers with some employ-
ment so that they could sur-
vive the famine conditions. The
palace was designed by Henry
Vaughan Lanchester.

22. (2) Lavani is a folk dance of

Maharashtra. It is a combina-
tion of traditional song and
dance, which is particularly
performed to the enchanting
beats of ‘Dholak’, a drum like
instrument. The dance is per-
formed by attractive women
wearing nine-yard sarees.

23. (1) The Railway Budget was

presented every year, a few days
before the Union budget, till
2016. Modi government on 21
September, 2016 approved
merger of the Rail and Gener-
al budgets from 2017, ending
a 92-year-old practice of a sep-
arate budget for the nation’s
largest transporter. So, the last
separate railway budget was
presented in 2016.

24. (1) Warren Hastings was an

English statesman and the
first Governor of the Presiden-
cy of Fort William (Bengal), the
head of the Supreme Council
of Bengal, and thereby the first
de facto Governor General of
India during 1773-1785. In
1787, he was accused of cor-
ruption and impeached, but
after a long trial, he was ac-
quitted in 1795.

25, (3) ICRA Limitedis an Indian

independent and professional
investment information and
credit rating agency that is
headquartered at Gurugram,
Haryana. It was established in

26.

27.

28.

29.

1991 as Investment Informa-
tion and Credit Rating Agency
of India Limited. It was re-
named as ICRA Limited and
went public on 13 April,2007.
(4) The Indian government re-
cently banned tourism in the
Sentinel Island of Andaman
and Nicobar Islands after
American national and mis-
sionary John Allen Chau suf-
fered an untimely death when
he ventured there and was
killed by its inhabitants, the
Sentinelese tribe. John hoped
to preach Christianity to the
tribe, who have lived on the
island for thousands of years.
(1) Pakyong Airport, the first
civil airport of Sikkim, was in-
augurated in September 2018
by India’s Prime Minister
Narendra Modi. At 4500 ft,
Pakyong Airport is one of the
five highest airports in India.It
is also the first greenfield air-
port to be constructed in the
Northeastern Region of India,
the 100th operational airport
in India, and the only airport
in Sikkim.

(3) Baldev Singh became India's
first Minister of Defence after
the country attained indepen-
dence on 15 August, 1947.
Along with Vallabhbhai Patel,
the Home Minister, Singh be-
came responsible for leading
the Indian Army's efforts to
provide security, relief and ref-
uge to over 10 million Hindus
and Sikhs who were leaving the
newly created Pakistan.

(1) The Statue of Unity is a
colossal statue of Indian
statesman and independence
activist Sardar Vallabhbhai
Patel is located on a river is-
land facing the Sardar Saro-
var Dam on river Narmada in
Kevadiya colony,southeast of
the city of Vadodara in Gujar-
at. Tt is the world's tallest stat-
ue with a height of 182 metres.

. (3) Anther is that part of the

stamen where pollen is pro-
duced. Most commonly an-
thers are two-lobed and are
attached to the filament either

31.

32.

33.

35.

at the base or in the middle
area of the anther. A pollen
grain develops from a mi-
crospore in the microspo-
rangium and contains the
male gametophyte.

(2) A coccus (plural cocci) is
any bacterium or archaeon
that has a spherical, ovoid, or
generally round shape.Itis one
of the three distinct bacterial
shapes, the other two being
bacillus (rod-shaped) and spi-
ral-shaped cells.Cocci may oc-
cur as single cells or remain
attached following cell division.
(3) Violet is the color at the end
of the visible spectrum of light
between blue and the invisible
ultraviolet. It has a dominant
wavelength of approximately
380-450 nanometers. Light
with a shorter wavelength than
violet but longer than X-rays
and gamma rays is called ul-
traviolet.

(3) A colloid, in chemistry, is a
mixture in which one sub-
stance of microscopically dis-
persed insoluble particles is
suspended throughout anoth-
er substance. Milk and butter
are a type of colloids known as
emulsions. Butter is an exam-
ple of solid emulsion type col-
loid.

. (4) Water of crystallization is

the number of water molecules,
chemically combined in a def-
inite molecular proportion,
with the salt in its crystalline
state. Sodium Sulfate (Glaub-
er’s salt, Na,50,. 10H,,0), Wa-
shing soda (Na,COs, 10H,0)
and Borax (Na,B,0,. 10H,0)
have ten molecules of water of
crystallization. Epsom salt
(MgSO0,.7H,0) has seven.

(3) The Allahabad Central Uni-
versity was established on 23
September, 1887 under the ae-
gis of Sir William Muir, Lt.
Governor of United Provinces.
Its origins lie in the Muir Cen-
tral College that was earlier
founded in 1876. It was Muir
who suggested the idea of a
Central University at Allaha-
bad.
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36. (1) Sucheta Kriplani was In-
dia’s first woman Chief Minis-
ter, serving as the head of the
Uttar Pradesh government from
1963 to 1967.The highlight of
her tenure was the firm han-
dling of a state employees
strike. She was later elected to
the Lok Sabha from Gonda
constituency in Uttar Pradesh
in 1967.

37. (2) Yogi Adityanath was ap-
pointed as the 22nd Chief Min-
ister of Uttar Pradesh on 19
March, 2017. He was appoint-
ed the chief minister after the
BJP won the 2017 State As-
sembly elections, in which he
was a prominent campaigner.
He has been the Member of
Parliament from the Gorakh-
pur constituency for five con-
secutive terms since 1998.

38. (4) The sarus crane (Antigone
antigone) is the state bird of
Uttar Pradesh. It is a large non-
migratory crane found in parts
of the Indian subcontinent,
Southeast Asia, and Australia.
The sarus crane is easily dis-
tinguished from other cranes
in the region by the overall grey
colour and the contrasting red
head and upper neck.

39, (?) Remaining amount in the
account of X.

— Rs. (90.53 + 67.14 - 70.16)
=Rs. 87.51
40. (3) Let smaller number be x.
.. Larger number = 2x + 2
. Product of numbers
= HCF x LCM
x(2x+2)=2x72
Ixe+l)=2x8x9
2x(x+1)=2x8(8 +1)
x=8

L1idd

41. (4}

4
X

wiv ale ol
—
bo

42, (2) Expression

= 800 x 5, X@ X —%9-
i 100 100 100
=326.4

43. (3) Actual C.P of article
= Rs. (300 + 50) = Rs. 350

s edpR _350x110
arked price =~ 557
=Rs. 385

; 385x120
Required S.P = 100
=Rs. 462

44, (2) Single equivalent discount

=[x+y_%6] %

20x10
_log+10-F=—|%
,_(2 + 100 ] ]
=28 %
S.1x100

45. (3) Rate = Principal x Time

3 440x100

T 1000x5

= 8.89% per annum >
46. (4) Amount

= Principal + Interest

= Rs. (1000 + 331)

=Rs. 1331

T

R

2 plynal
% [ 100)

T
10
= Ja
- 1331 1000( 100}

1331 1Y (11 L
1 TOS sl o e S
1000 10 10

= T=3years

47. (1) Ratio of shares = 4:5:6
Sum of the terms of ratio
=4+5+6=15
(’s share-A's share = Rs. 200
= 6-4=2=200

200
15 = T x 15
=Rs. 1500
— (UCSE-156 |
UCSE-156

48. (4) A’s share = Rs. 2x
B's share = Rs. 3x
(’s share = Rs. 4x
According to the question,
2% + ey 100
2 2
= x+2x=100
= 3x=100

i
e

-, Total profit = 8x
100
=9x "Bty Rs. 300

49. (1) Total C.P
=Rs.(10x7+11x9+15x 14)
=Rs. (70+99 + 210)

=Rs. 379
Average C.P= ——3@—"
CIAge Ll = s 0ld
o 379
RS S
379 120
7 ired S.P'= ——=X~~2
Required 5.P 30 100
= Rs. 15.16
50. (4) (A + B)s ldays work
wi L
T2
1

B+C)s 1 day's work = 16

: : 1
(C+Asl day’s work = 2

Adding all three
2(A+B+C)sldays work

12 16 24 48
p.: b 1
T 48 16
(A +B+C)s 1day's work
otk
>
; 32
Required time = Y
=10.67 days
228
51. (1) Average speed = " y
(2 x21x24
=|\To1+22 ) KoPR-

i

e 08 B

sC
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52.

53.

54.

55.

2x21x24 :
a5 kmph.

112
5 kmph.
Required distance

= Speed x Time

112
—=%5| km
(SXJ

=112 km.
(4) Speed of second train
" Distance
Time
(450}
HeT - ‘ kmph.
=90 kmph.
Ratio of speeds =5: 6
Speed of first train

5
=|—=x90
= (6 x ) kmph.
=75 kmph.

(3) Width of plot = x metre
- Its length = 3xmetre
3x2=768
= = i =256
i
= x= ,[956 =16 metre
‘. Required perimeter,
=2 Bx+x
=8x=8x16
=128 metre
(1) LCMof 7,11 and 13
=7%x11x13

=1001

ABCABC = 100000 A-+ B x
10000 + C x 1000 + A x 100 +

Bx10+Cx1

=100100A + 10010B+ 1001 C

= 1001 (100A + 10B +C)
On dividing by 1001,

required remainder

=100A+10B +C=ABC

(2) The given number is divi-
sible by 44 if it is divisible by 4

and 11.

The number is divisible by 4 if

x 8 is divisble by 4.
For, x=0, 2, 4, 8,

x 8 is divisible by 4
For divisibility by 11,

Sum of digits at odd places -

sum of digits at even places

=0orll
= 8+7+2-x-4=0o0r1ll
= 13-x=11
= x=13-11=2
56. (3) Required product

= 256 x 16
=16x4 =64
Required answer

= Jpai=8
57.(2) C.P. of 1 chair =Rs. x

C.P. of 1 table =Rs. y
According to the question,
2x+ y= 170------- (i)
B5x + 4y = 530-------- (i)
By equation (i) x 4------—--- (ii),
we have

8x +4y =680

Sx+4y = 530

3x =150

150
=x =-——- =Rs. 50
3

C—23pF —t3yq 2SI
922354 X2, g x23015
B—3yp 28, 43,k
Y I . S .

In the next term, the number
shifts one place to the right
and again moves from right end
to the second position from
the left.

59. (1) b

AR D515 e S

60. (4)

ce 20Em. o

15 km.

North
North-West North-East

West East

South-West South-East

South

(UCSE-157 |
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AC = (aB)* +(BC)®

= J(15)% + (20)

= 225+ 400

= Je25 =25 km.
61. (4)

Ist car

10 km.
A

5 km.
2nd car

E 8km. D

CE = (10 + 5) km = 15 km.
62. (3)

[33km.

8 km.

V______>

He was going towards East.
The opposite East is West.

63. (4)
7 km.

5 km, 5 km.

v

He was going towards South.

64. (2) Only Conclusion II follows.
The statement implies that
price is very competitive and its
quality is good.

65. (1) Obviously, only Argument
I is strong. Taxes are good
source of revenue for the
Government.

66. (3) Obviously, only Conclu-
sion III follows. Blood group
can be detected immediately.
The second Conclusion tells
about frivolous thing.

|\ Hsoemiet OF
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. 7. (2) There is only one ‘N’ in the
given word. Therefore, the word
NINE cannot be formed.

[CTAR]A[B]INGER= CRAB
CA[RTATB|ING[E]|R=BARE
[C]ARAB[I|NG[E[R]|=RICE

68.(3) IMPERIOUS
The first letter is I and fourth
letter is E.

69. (1) Here, ‘Animal/Bird-Sound’
relationship has been shown.
The sound made by Bird is
called chirp. Similarly, the
sound made by Bear is called
Growl.

Monkey — Gibber
Goat — Bleat
Cannel — Grunt

70. (2) The second follows the
instructions of the first. Nurse
assists doctor. Similarly, staff
follows the instructions of
OWRET. e

71. (2)
LQR — U

¢ a[:58
+5T. T
+3
+1
Similarly,

EAl SMEN, QP

+1
Alternativ ely .

PQR —» UT S

L]

3
+3

Similarly,
LMN— Q PO

b o)

+3

+3

72. (4) Pathology, Radiology, Car-
diology and Hematology are
different branches of Medical
Science.

Biology, Geology and Zoology
are different branches of
Scienee.
73.(1) (1)3=1
% (2)%=8
(3)2 =27
(4P =64

) =

74.(3) 26+1=26
26+2=28
28 +3=31F)
31+4=35
35+5=40
40 + 6 =46
Y-X=40-31=9

75. (2) In each term the first unit

is 32,

3x1=3

A4x1=4

4%x3=12

12x4 =48

48 x5 =240

240 x 6 = 1440
76. (1)

C—2HE—243G6—E+K
M-y Qs —=3W
77. (3) 2nd day after 20th means
22nd day of the month.
Wednesdays = 5, 12, 19 and
26
~ 292nd = Wednesdays + 3
= Saturday
78. (2)

3 4
A—1pB 2D G —
1

F+0F+1'G +21+3

o ™ w R

1 1
5ty —2p6 b7 >

79. (2)

[63](9) —» fatey) [is drink]
EE) ()

> @@—vor

or=2

80. (4)
R Pe. H

BaN

d. 2 HoF

{UCSE-158 |
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S NCHIEr =W

[

g gy Nging

Therefore,
7 9,2 3
+2X |-+
81.(1) [y s s|em—

9-3+1+6x2="?
= ?=9+3x1-6 +2

= ?=94+3-3=[9]
82. (3)
HELIPAD—J G RCF

N K
+2T
+2
+2
+2
) . +2
2
+24

+

Therefore,
B UY ——» D

]
+

A

2

w
]
83. (2)

X*Y — Xis father of Y.
Y @ Z —> Y is grandson of Z.
Z # W —> Zis wife W.
W is father of X.
X is son of W.
84, (2) Option (1)
1% G — 1is father of G.
G ! H — G is sister of H.
H* K —» H is daughter of K.
I is husband of K.
Option (2)
11 G — [ is sister of G.
G % H —> G is father of H.
H* K — H is daughter of K.
G is husband of K.
1 is sister of G.
85. (1) M’s daughter’s father
means husband of M.
N is son of mother of M’s hus-
band.
N is brother of M's husband.
86. (3) Men who are artists can be
represented by the letters com-
mon to the rectangle and the
triangle. Such letters are A
and B.

D it N
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87. (2) Rajasthan is a state of In- §

dia.
India is a country of Asia.

Rajasthan

88. (1) In two tests he got 45 and
48 marks respectively.
(4) Total GDP of 6 countries
=(125+ 100 + 150 + 200 + 100
-+ 75) hillion USD

= 750 billion USD

1
. [EXTSOJ billion USD = 150

89,

hillion USD, i.e, GDP of coun-

try C.
90. (1) In Alloy 1, mass ofmetal B

- 1000x 2. - 300
3 100 g

" In Alloy 2, mass of metal B

= 2000 b 400
= *T00 = gm.

Total mass of metal B

= (300 + 400) gm.

=700 gm. ’

(3) Except Paint, all others are
different colours

91.

92.

But,

G e el
93. (4) Except figure (4), in all other
. figures, the five arrows are par-
allel to one another.
(2) In figure (2), there is J in
the place of L.
(2) The first belongs to the sec-
ond. Necklace is a jewellery.
Similarly, Pen is a stationery
- item.
96.(2) 196=1+9+6=16
169 = 1+6+9=16
Similarly,
2744 = 2+7+4+4=17
2195= 2+1+9+5=17

94.

95.

97.(1)

98. (4)

RV
|

99.(2}EE:]EEH -

=

100. (4) After folding the figure :
[ ] ties opposite
lies opposite [ O |
E lies opposite
(O]
adjacent [~ to.

cannot be on the face -

(101-103) :

Applicant CONDITIONS _
| Wo@ | ®| ©or@ | O|Er@E
Vijay v ENIEAE SRR
Sam v - v I NG| - | NA| Y -
Seema | - v X - v | NAl - v
101. (1) Vijay satisfies all the 107. (3)
conditions. Therefore, allot
passport to Vijay. X
102. (4) There is no information
© regarding condition (C). 108. (3
103.(2) Seema does not satisfy Suts) )Z{] [)ZC
condition (B). Therefore, reject vq [§7
her passport. :)ﬁ ,-\C

104. (3) In each subsequent figlure
both the designs move one step
in clockwise direction and the
shaded part of the circle moves
one sector in anticlockwise
direction.

105. (1) From first figure to second
figure the plane of designs ro-
tates through 90° anticlock-
wise and the first design mowves
to the last position and it. is
replaced with a new desijgn.
From second figure to third ig-
ure the plane of designs rota‘tes
through 90° clockwise and the

first design moves to the last

position and it is replaced with
a new design. The two steps zwre

repeated alternately.
106. (4 2 wing
@ 4
~.| 5

There are 11 lines in the given
figure.

109. (4) Arrangement of words as
per order in the dictionary :
Pretence

!

Prettier

!

Preview

!

Previous

110. (3) Reti [na]

|

Nation

Algeb

!

(UCSE-159 |
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Radiat

}

Ordinary
111.(3)

FQHQGN +2P+6 V+2-X
E——-*-*D'I'"—'—PM—FQ——D'U—D-Y

p—2p g2y By 2, p B,y

112.(3) In each subsequent term
the second last F moves one
place to the left.

EEE[F |EF—»EEEEE

F—+EEE |F|EEEEF

——» EE|F| EEEEEF

113.(1) 6.2+2.7=-3.5
~-3.50+2.7=-0.8
-0.8+2.7=19
19+2.7=4.6

114, (1) ¥9r = fawia e fagm g
Ham =1 o1 feeh =t = fiaer,
faumm =1 a7ef -fort =afem =t favg
1 sraen (faggm) @ @ §1

115. (1) ‘Seomg’ &1 9fy fa=x 3q +
M = e
gy oA & f (1 + @ =)
T s wiy Bl

116.(2) ‘v’ &1 s1ef- " R g
&

117. (1) ‘S’ %1 99 a1 qamet e @
foma @1d wa @ walk g oA
B 1

118. (1) ‘et = w1 ude wa' H
THEH FAEFR B e TH IR
TR-IR M Toheg SEeT A a5a
M0 G 9E I9F SEFR e e
SG—FTl ST F THE WeT = TE
TR ST H sTed-wgd, e uen
& Sd-H0 g el ¢l

119. (3) i 2/ Tl 991 & 9% e
TG WA W wEy a9 e
T v ¥ fGen € SR wE
diuw T wed ol :
SY-TE™ % W HE Gl ¢

120. (2) fau T fished © ¥E 99 @

Tfa T 21 B

(4) T & =AU H T B NUA

% IR St fHa W gl 8]

ﬁﬁmmﬁﬁ%a—}aﬂfaﬁﬁ

2l

(2) ‘e AF gEre 6 &Yy

T g 21

(2) §TR @ ®H S A U

FE T 2 GEM: YR W

e e fawew/faam & | 9 S

o ¥ faetsa fE ST @1 TR

| w1 TRt WE- W 2

(1) wdar= o § gl § O

@ g € R e # fm e

T T FE B oHER B ¥ Ry

MU S wHareA ° ‘g fEae

A9 F W W T E e

(2) 9 U 7T aRE F @=1 w5 =

w1 @ faer s ¢ W 9 o=

I FEA ¢

(1) 39 99 | HE o 7% 45H Tl

B aifag iE & T ¥ g

T FA T A-ERIE-EE §

forer | T

(3) femn T T TE WS H

Taefed B 9w wfE e

TE AL 8 T E 9% gared

. FEdr 2l

128, (2) 18 =g, & oFe 219 @
¥ oraned v wead €1 o &
et = & wwa, Hid, v,
e, Sitw, I, YaR sl

129). (3) R o ae qeewien T
T ‘g=9 TEFE FH o et
gl

130. (1) &y U s ¥ gEEE S
Erm FifE TR % fau (21 )
F1 wEm g ¢, fomer ownf fRdt

F [HERA A G B 2

121.

122.

123.

124?-

125.

126.

127,

131.(4) fen ™ T wio=sm w@ ¥ |

qed Gel @elt B
13:2. (1) o w0 v=% ‘' arqm w1 wfert
‘e @

13:3. (1) U 70 315 1 Wfew § uiEd -

FH T IS U gl
134. (1) TFER 1 9gaed qaEl gl
135, (1) =X 99 Y& & o6 8-

() g ™R (o ), (i) &

R, (i) @ =W

186. (3) = A TER % A E-

1. WY e[ 2. ey e 3.
Waﬁﬁ'
mwﬁmwﬁ?ﬁ%—
H, %9, 8
(1) & € sifeal § & € 9w
T T A favmm ws -
© e @
138. (1) WM o6 9 | o w5 w
fF ® R wed § S8-H, @
ardt €, ¥ @ @ gl
(1) e ot afe & ole
TH W 1 S e B
THF T i dee s €
21 o =iTE B § T T Ty
e B AW | 2
(4) ‘9RA TEN' ARG BfEs ®
T e I #
(1) g 90 fe<t ofea =
DEEE N H THE T (FHia)
9 giereA 99 g0 PEd g=
T~ Fergrarty, Se, A S @
e, Teerd afE ¥ 2 ST T
% o TS TEEhTL, TEIT GERRR
anfe faer €
(1) TR T T 1 & 1983
o wferan wg ‘gfedl w2 @' @
fau oifee sl qoeR fio
BRI 1
143.(1) ﬁqmwmﬁwﬁm
=T W =1 eniga & o Tesm e
144. (2) Tmer sfem ‘Siffm oW
T S W ] TR wE el
145, (3) 7o WA T W w1 T
gSid TS % W™ % 1565 @
GO AEHU W A g
146. (1) TosaFR ey e grame
% w9 e 2
147.(1) ‘r‘awmsrmmw“ﬁﬂaw
R R
148.(2) ST ¥ & AH TIH
ERCIRCIC I T G T g i
9, |, =i

137.

139.

140.

141.

142,

149.(2) faw M y=i H ® wUh

TG Y BM FHUG—FHGR
150. (4) faq 7T fomedi 4 9 ‘wget’ |
ol off oo 1 ARt T gen R
aaa

(" UCSE-160 |
UCSE-160



